Homework  08 (for Conradt lectures):
Due date  for  both parts is Thursday, April 15, 2010
Part A:  From Lecture 21
Derive the enthalpy and entropy (T = 298 K) of a glass of composition (in wt. %)
65 SiO2, 15 Al2O3, 20 CaO.  

Compare the result to the values of the isochemical (polycrystalline) equilibrium state.  
What is the Gibbs energy difference at 298 K?

With a value of Tg= 760 °C and Hfus= 475 kJ/kg as given, what estimate do you derive for Cp?  
What is the expected fragility slope?
Part B: (from lecture 22, slide 60)
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Homework

Use the simplified form of the Adam-Gibbs relation
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Use the ,structural parameter” a as an adjustable parameter to generate a linear
fit to the following experimental viscosity data of diopside (viscosity in dPas):

Tin °C log 1|
708 =130
1375 1.087
1400 0.992
1450 0.881
1500 0.678
1550 0559
1600 0.465

The experimental value of Ac, is 80.0 J/(mol K). Derive an estimate for the conventional
entropy of vitrification S*t. Conclusion?





